HER- AAHRET R

* ok x FAAN * * %

RF L F HER | AOE 5 £

KO ET/\H 78 312 147 165
KOBTEH 296/ 1,015 521 494
JKOET T 859| 2,636| 1,342 1,294
KOBT#H L 109 498 234 264
JK OETLL 1,905| 5,838| 2,982| 2,856
KORTR 498 1,483 756 727
KOETEA 112 409 198 211
K O BT4E 38 143 77 66
JKOHETFH 204 649 310 339
7K O BT At fa 537| 1,356 668 688
KOBTHRAT 334| 1,090 553 537
KOBTEA)I 284 903 433 470
AKOBTHRAFFHR 216 528 271 257
KOBTIERE 90 342 169 173
KOBT=FII 183 666 315 351
KOETEIR 19 81 38 43
AKOBET&E L 32 158 79 79
KOBT=KF 491| 1,622 769 853
KO BT 467 165 594 271 323
K O ETHlG 99 366 166 200
JKOHETILE 104 327 164 163
KOBTHEAIR 597 1,191 690 501
KOHET£ R 524| 1,270 650 620
KOBTRE 434 1,580 804 776
7K O BT 5 4 42 173 85 88
7K O BT#r 3 541| 1,729 853 876
KO BT 4540 126 408 189 219
7K O BTl 106 454 223 231
K OBTF0E7 93 370 180 190
JKOBTRREE 53 167 74 93
7K O BT JTET 131 373 169 204
7K O BT ZR BT 115 303 140 163

(FRR16E11AXK)

RF L F s | AOE 5 =

KOBTAE—TH 103 326 154 172
KOBTARI—TH 183 361 164 197
KOETART=TH 122 275 150 125
7K O BT 4 BA 131 298 147 151
KOBET &R 228 648 309 339
7K O FT B3 113 242 122 120
JKOBTHAE 57 172 87 85
7k O BT e i 69 190 93 97
JKOBETE DHEI 36 100 49 51
KOETHET—TH 41 124 58 66
KOETEHEI—TH 73 207 96 111
KOBEEEA R 114 260 133 127
AKOBTEEAR 208 565 279 286
KOBT A $EE 59 101 59 42
KO TS 65 173 78 95
K OET/\3R 132 361 164 197
JKOHET/\E 118 265 143 122
KOBETHRE 155 408 204 204
KOBTHEAR 160 439 214 225
KOETH A 139 401 195 206
JKOBTARA 162 484 240 244
7K O BT R ER 122 335 168 167
KOETHE 48 95 42 53
KOBTE#O 58 171 91 80
KOBTFE DO 183 479 235 244
JKOBTKO 485| 1,361 667 694
KOBTEAR 109 230 140 90
KOBTEX£NI—TH 192 583 290 293
KOBTEXJIZTH 213 578 303 275
JKOBTE#A O 71 213 104 109
| AKOBT &t | 13,364| 39,479] 19,698] 19,781]




HEH - AO#HETER (ERH16FE11AXK)
* ok x FAAN * * %

PTAR HE, | LD | B S F & e, | LDt | B £
= [LIET KA R 66 222 100 122 BB BT 5 92 360 166 194
=+ L BT k] 164 605 274 331 FRERTAf 260 995 489 506
TILBTEE 27 108 54 54 FERXELH 82 333 153 180
+ BT E)I] 149 537 270 267 FERTAKAKR 94 362 161 201
TILETES 27 106 45 61 FEETKES 214 564 273 291
+ LB 49 173 79 94 RENEEH 123 465 230 235
T BT EEER 29 118 55 63 R ERTEE 150 496 235 261
T BT I Z R 29 89 42 47 FERXETIS 242 822 386 436
+ LETEe £ 1 460| 1,297 689 608 RERSE 96 383 193 190
o 11]:i) | Al N1 649 2,067/ 1,031 1,036 FEEHAE 245 912 435 477
T ILETFEF 23 94 44 50 FERT LS 228 797 376 421
TILETEE /B 46 203 103 100 FERTHER 157 584 263 321
TILETE L 40 162 80 82 RERE 195 722 353 369
+ [LET E7 L BF 67 241 118 123 FEHRTER 52 196 93 103
+ ILETKE 22 95 45 50 FERTFIA 89 341 162 179
T ILETIE S 84 345 170 175 RER S48 43 164 76 88
+ ILBTRITEF 114 372 197 175 REAKRE 88 292 131 161
+ ILET TS 90 373 178 195 RERT/IMES 165 693 323 370
T ILBTfER 160 610 299 311 FERT#HER 103 429 204 225
T ILIETKE 431| 1,515 783 732 FR 7 BT[R5 100 408 192 216
REEEE 133 560 274 286
£ LIET | 2,726] 9,332] 4,656| 4,676] REATHEIR 174 583 277 306
REERES 114 385 201 184
| FEM af [ 3,239] 11,846] 5646] 6,200]




ﬁ%%ﬂku$ﬁ§+§ (Fr16FE11AXK)

* k k F2 A % % %

KFR R HEH | AOE B = RFL HEH | AOE B =
FmETFE 379 1,235 581 654 FRiSEEyEXRI1TH 144 423 217 206
HFmETSXR 297 862 409 453 B HFES EARR2TH 107 357 178 179
B g ET iR 803| 2.452| 1,182| 1,270 FEREEyEAER3TH 77 247 121 126
BT R Hi5 55 185 84 101 HEEEFE S EARR4TH 83 262 138 124
RSN 112 377 184 193 FERIAFES EARSTH 86 282 155 127
e s 74 275 130 145 B HFE S EAR6TH 82 289 136 153
FrRETEXR 44 142 72 70 HREHFES EARBI7TH 70 236 117 119
FR g T sth 353 1,292 626 666 FriHEEy EARSTH 108 378 193 185
BT E 92 356 169 187 FERTAES EAROTH 131 432 220 212
B T 5 S 192 688 343 345 FRElTA g, EAR10T H 108 334 174 160
e ES S 160 540 274 266 FrEEAEESE1TH 153 456 222 234
FrIET¥7 H 120 397 206 191 FREEAESE2TH 258 841 416 425
FrETEZa 190 725 348 377 FrEEAE~SE3TH 234 745 381 364
BT #r A 434| 1,345 665 680 FmEAEsE4TH 165 567 286 281
B BT B 49 177 80 97 FmEAES ES5TH 225 766 378 388
A BT T /&R 58 211 101 110 _

R ETHEF 96 355 170 185 | Il &t | 6,267] 20,548] 10,094 10,454]
FERTEI 96 385 179 206

FREETFTEYR 47 180 82 98

HETEER 58 198 93 105

TR 01T H 99 296 155 141

FrEirshi2TH 137 378 183 195

FrETR 03T H 162 477 242 235

FrEirshi4TH 129 405 204 201




HEEH- AA#ETER (ER165118%)
* k k F2 A % % %

AFZFh HEH | A0t | B =
EXEHER 1,311 3,957| 1,959 1,998
{EXETHL 446 1,238 622 616
{EZHETTH 340| 1,140 562 578
{EZEETH 173 296 149 147
15 2 T 4 29 122 56 66
15 ZEHT = BT 109 419 195 224
EESE 246 788 384 404
15 ZEHT 4K 415/ 1,186 561 625
EERPE 387 1,159 560 599
{5 ZETHE[R 100 357 165 192
{EXEETP T 224 685 362 323
{EXBTHZIL 48 177 85 92
1= ZEET /M 173 573 276 297
15 BT/ 1 H 61 208 98] 110 Wk | AQEf | B T
(5 ETF 162 385 205 180 KOBET 13,364| 39,479 19,698| 19,781
EZET LHE 146 489 230| 259 LILET &t 2,726 9,.332| 4,656| 4676
EXEETTEHE 60 227 116 111 FER &t 3,239( 11,846| 5,646| 6,200
EXEETER 45 189 84 105 EHEEHT &t 6.267| 20,548| 10,094| 10,454
EEBTZEE 178 544 261 283 {EXHET &t 4,653| 14,139 6,930| 7,209

_ REM &5t 30,249 95,344| 47,024| 48,320
| EESII | 4653] 14,139] 6,930] 7.209]
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